



St. Louis County, Minnesota

Date of Report: 12/17/2025 12:53:36 AM

**General Details** 

 Parcel ID:
 380-0010-06066

 Document:
 Abstract - 1356732

 Document Date:
 10/03/2010

**Legal Description Details** 

Plat Name: GRAND LAKE

Section Township Range Lot Block

31 51 16

**Description:** W 150 FT OF E 215 FT OF LOT 6 LYING S OF RD

**Taxpayer Details** 

Taxpayer NameHARVIEUX DANIEL Rand Address:6990 KLIMEK RDSAGINAW MN 55779

**Owner Details** 

Owner Name HARVIEUX DANIEL R

Payable 2025 Tax Summary

2025 - Net Tax \$5,357.00

2025 - Special Assessments \$29.00

2025 - Total Tax & Special Assessments \$5,386.00

**Current Tax Due (as of 12/16/2025)** 

Due May 15 **Due October 15 Total Due** 2025 - 2nd Half Tax 2025 - 1st Half Tax Due 2025 - 1st Half Tax \$2,693.00 \$2,693.00 \$0.00 2025 - 1st Half Tax Paid \$2.693.00 2025 - 2nd Half Tax Paid \$2.693.00 2025 - 2nd Half Tax Due \$0.00 2025 - 2nd Half Due 2025 - 1st Half Due \$0.00 \$0.00 2025 - Total Due \$0.00

**Parcel Details** 

Property Address: 6990 KLIMEK RD, SAGINAW MN

School District: 704
Tax Increment District: -

Property/Homesteader: HARVIEUX, DANIEL R

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
201	1 - Owner Homestead (100.00% total)	\$186,000	\$360,600	\$546,600	\$0	\$0	-			
	Total:		\$360,600	\$546,600	\$0	\$0	5583			





St. Louis County, Minnesota

Date of Report: 12/17/2025 12:53:36 AM

**Land Details** 

Deeded Acres: 0.56

Waterfront: LITTLE GRAND

Water Front Feet: 153.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00

· ·····	0.00							
t Depth:	0.00							
e dimensions shown are n	ot guaranteed to be s	survey quality.	Additional lo	t information can be	found at			
ps://apps.stlouiscountymn.	.gov/webPlatsIframe/				ons, please email Property	Γax@stlouiscountymn.go		
		Improve	ement 1 D	etails (HOUSE	)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc		
HOUSE	1974	1974 2,026		2,377	- 1S+ - 1+ S			
Segment Story		Width Lengt		Area	Foundation			
BAS	1	5	10	50	FLOATING	OATING SLAB		
BAS	1	8	10	80	FLOATING	SLAB		
BAS	1	10	27	270	FLOATING SLAB			
BAS	1	12	43	516	FLOATING	SLAB		
BAS 1		17	24	408	FLOATING	SLAB		
BAS 1.5		26	27	702	FLOATING	SLAB		
DK	1	12	49	588	FLOATING	SLAB		
Bath Count	Bedroom Count		Room Count		Fireplace Count	HVAC		
1.75 BATHS 2 BEDROOMS		MS	-		1	CENTRAL, PROPANE		
		Improver	nent 2 De	etails (30X40 Do	G)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
GARAGE	, , , , , , , , , , , , , , , , , , ,		DETACHED					
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	30	40	1,200	FLOATING	G SLAB		
		Improve	ment 3 De	etails (DG W/L	Γ)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
GARAGE	1980	832		832	-	DETACHED		
Segment	Story	Width	Length	Area	Founda	tion		
BAS 1		26	32	832	FLOATING SLAB			
OPX	1	4	32	128	FLOATING SLAB			
		Improve	ement 4 D	etails (SAUNA	)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc		
SAUNA	1970	60	)	60	-	-		
Segment	Story	Width	Length	Area	Founda	tion		
BAS	1	6	10	60	POST ON G	ROUND		
DAS		0		• • • • • • • • • • • • • • • • • • • •				





St. Louis County, Minnesota

Date of Report: 12/17/2025 12:53:36 AM

		Improve	ement 5 D	etails (SHED)				
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc	
STORAGE BUILDING	<b>9</b> 0	128	3	128	-		-	
Segmen	t Story	Width	Length	Area	Four	ndation	on	
BAS 1		8	8 16 128		POST ON GROUND			
DKX 1		4	4 16 64		POST ON GROUND			
		Improvem	ent 6 Deta	ils (PVR PATIO	)			
Improvement Type	Year Built	Main Floor Ft <sup>2</sup>		Gross Area Ft <sup>2</sup>	Basement Finish Style Co		ode & Des	
	0	473		473	-	В -	BRICK	
Segmen	t Story	J		Area	Foundation			
BAS	0	11	43	473		-		
		Improve	ement 7 De	etails (PATIO)				
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish Style Code &				
	0	240 240		240	- B - BRI		BRICK	
Segment Story BAS 0		Width	Length	Area	Foundation			
BAS	15	16 240 -		-				
		Improveme	nt 8 Detai	Is (BOATHOUS	Ε)			
Improvement Type Year Built		Main Flo	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish Style Code & D			
STORAGE BUILDING 2005		224	224 224				-	
Segment Story		Width	J		Foundation POST ON GROUND			
BAS	1	14	16	224				
DKX	1	3	14	42		N GROUND		
DKX	1	12	12	144	POST OF	N GROUND		
	Sa	les Reported	to the St.	Louis County A	uditor			
Sale	Date		Purchase	Price	(	CRV Number		
07/		\$165,000 (This is part of a multi parcel sale.)			117458			
10/	1992	\$132,000 (T	his is part of	a multi parcel sale.)		86990		
		As	sessment	History				
Class Code		Land	d Bldg Tota		Def II Land	Def Bldg	Net Ta	
Year	(Legend)	EMV	EM\			EMV	Capaci	
024 Payable 2005	201	\$186,000	\$341,4	400 \$527,4	100 \$0	\$0	-	
024 Payable 2025	Total	\$186,000	\$341,4	400 \$527,4	\$0 \$0	\$0	5,343.0	
	201	\$150,900	\$269,3	300 \$420,2	200 \$0	\$0	_	
023 Payable 2024	Total	\$150,900	\$269,3	300 \$420,2	200 \$0	\$0	4,202.0	
	201	\$167,100	\$216,2	200 \$383,3	300 \$0	\$0	-	
022 Payable 2023	Total	\$167,100	\$216,2	200 \$383,3	\$00 \$0	\$0	3,806.0	
	201	\$140,800	\$181,9	900 \$322,7	700 \$0	\$0	-	
021 Payable 2022	Total	\$140,800	\$181,9			\$0	3,145.0	

3 of 4





St. Louis County, Minnesota

Date of Report: 12/17/2025 12:53:36 AM

Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$4,491.00	\$25.00	\$4,516.00	\$150,900	\$269,300	\$420,200			
2023	\$4,269.00	\$25.00	\$4,294.00	\$165,904	\$214,653	\$380,557			
2022	\$3,991.00	\$25.00	\$4,016.00	\$137,224	\$177,279	\$314,503			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.